
COST ACCOUNTING SYSTEM 

 

1. “The profits of cost accounts may be different from those projected by 

financial accounts and in such cases a memorandum reconciliation 

statement is needed” In the context of this statement, discuss the 

possible reasons of differences between the two sets of accounts and the 

need of reconciliation. 

2. The following figures are extracted from the Financial Accounts of 

Anishka Ltd. For the year ended 30-04-2009: 

 
In the costing records, Factory Overhead is charged at 100% of Wages, 

Administration Overhead 10% of factory cost and Selling and 

Distribution Overhead at the rate of Rs. 20 per unit sold. 

Prepare a statement reconciling the profit as per Cost Records with the 

profit as per Financial Records. 

(Adopted RTP Nov 2009) 

 

 

 

 

 

 

 



3. The financial records of Anamika Manufacturers Ltd. reveal the following 

for the year ended 30-6-2009: 

 

 
In the Costing records, factory overhead is charged at 100% of wages, 

administration overhead 10% of factory cost and selling and distribution 

overhead at the rate of Rs. 16 per unit sold.  

Prepare a statement reconciling the profit as per cost records with the 

profit as per financial records of the company. 

(Adopted RTP May 2010) 

4. The following incomplete accounts are furnished to you for the month 

ended 31st March,  2013 

 



 

 
(RTP May 2013) 

 

 

 



5. A Company operates separate cost accounting and financial accounting 

systems. The following is the list of Opening balances as on 01.04.2012 

in the Cost Ledger. 

 

 
The Company’s gross profit is 25% on Factory Cost. At the end of the 

quarter, WIP stocks increased by ` 9,600. 

Prepare the relevant Control Accounts, Costing Profit and Loss Account 

and General Ledger Adjustment Account to record the above transactions 

for  the quarter ended 30.06.2012. 

(ATP Feb 2013) 

6. The following balances were extracted from a company’s ledger as on 31st 

Dec 2011. 

 



 
Prepare all the Ledger Accounts in Cost Ledger 

7. MML Ltd. operates on historic job cost accounting system, which is not 

integrated with financial accounts. At the beginning of a month, the 

opening balances in cost ledger were. 

 



At the end of the month, the stock of raw material and work-in-progress 

was ` 60 lakhs ` 37 lakhs respectively. The loss arising in the raw 

material account is treated as factory  overhead. The building under 

construction was completed during the month. Company’s  gross profit 

margin is 20% on sales. 

Prepare the relevant control accounts to record the above transactions in 

the cost ledger  of company. 

(Adopted RTP May 2012) 

8. Cost Ledger of Beta Ltd. shows the following balances as on 31st March. 

 

 
You are required to write up the accounts and schedule the balances 

stating what each balance represents. 

(Adopted RTP Nov 2011) 

 

 

 

 

 



9. R Limited showed a net loss of ` 35,400 as per their cost accounts for the 

year ended 31st March, 2012. However, the financial accounts disclosed 

a net profit of ` 67,800 for the same period. The following information 

were revealed as a result of scrutiny of the figures of cost accounts and 

financial accounts: 

 
(Nov 2012) 

 

10.  



 



11. You are given the following information of the cost department of a 

manufacturing company: 

 

 


